ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE AMOUNT
206.6001	Structure Excavation for Abutments (Pineapple Road Bridge)	25	CY	\$ <u>1000-</u> \$ <u>25,000-</u>
206.6002	Structure Excavation for Retaining Walls (Pineapple Road Bridge)	42	CY	\$ <u>600-</u> \$ <u>25,200-</u>
206.7201	Structure Backfill for Abutments (Pineapple Road Bridge)	17	CY	\$1,100-\$ 18,700-
206.7202	Structure Backfill for Retaining Walls (Pineapple Road Bridge)	21	СҮ	\$ <u>300-</u> \$ <u>61300-</u>
209.0100	Water Pollution and Erosion Control	F.A.	F.A.	F.A. \$100,000.00
503.1080	Concrete for Abutment Walls (Meheula Parkway Bridge)	L.S.	L.S.	L.S. \$ <u>300,000</u>
503.1081	Concrete for Abutment Walls (Pineapple Road Bridge)	L.S.	L.S.	L.S. \$ 185,000-
503.1082	Concrete for Retaining Walls (Pineapple Road Bridge)	L.S.	L.S.	L.S. \$ <u>250,000</u> -
602.0090	Reinforcing Steel for Abutment Walls (Meheula Parkway Bridge)	L.S.	L.S.	L.S. \$ 10,750-
602.0091	Reinforcing Steel for Abutment Walls (Pineapple Road Bridge)	L.S.	L.S.	L.S. \$ 4,500
602.0092	Reinforcing Steel for Retaining Walls (Pineapple Road Bridge)	L.S.	L.S.	L.S. \$ 6,700-
606.8000	Portable Concrete Barrier	26	EACH	\$ 3,000-\$ 78,000-

ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT
612.1000	Grouted Rubble Paving (Meheula Parkway Bridge)	L.S.	L.S.	L.S. \$ _	40,000-
612.1001	Grouted Rubble Paving (Pineapple Road Bridge)	L.S.	L.S.	L.S. \$ 2	10,000-
621.7120	Construction Sign with Two Posts	18	EACH	\$ <u>550-</u> \$_	9,900-
621.7121	Portable Construction Sign	18	EACH	\$ <u>450-</u> \$_	8,100-
629.1010	4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion) (Meheula Parkway Bridge)	L.S.	L.S.	L.S. \$ _	7,000-
629.2070	Type "C" Pavement Markers (Meheula Parkway Bridge)	L.S.	L.S.	L.S. \$ _	250-
629.2080	Type "H" Pavement Markers (Meheula Parkway Bridge)	L.S.	L.S.	L.S. \$ _	400-
636.0100	Maintenance and Renovation of Existing Field Office	F.A.	F.A.	F.A.	\$20,000.00
645.1000	Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$100,000.00
649.6210	Inertial Barrier Module, (200lbs.)	3	EACH	\$ <u>500-</u> \$ _	1-500-Jpp
649.6220	Inertial Barrier Module, (400lbs.)	3	EACH	\$ <u>550</u> \$ _	1,105-Jep
649.6230	Inertial Barrier Module, (700lbs.)	3	EACH	\$ <del>550</del> \$ _	1,875- 1 <del>,650-</del> Jep

ITEM NO.	ITEM	QUANTITY	UNIT	UNIT PRICE AMOUNT
649.6240	Inertial Barrier Module, (1400lbs.)	26	EACH	\$ 550 \$ 14 300 top
649.6250	Inertial Barrier Module, (2100lbs.)	8	EACH	\$ 600 \$ 4,800 fpp
655.1000	Drilling Holes and Installing Dowel Reinforcing Bars for Abutment Walls (Meheula Parkway Bridge)	L.S.	L.S.	L.S. \$ 40,000-
655.1001	Drilling Holes and Installing Dowel Reinforcing Bars for Abutment Walls (Pineapple Road Bridge)	L.S.	L.S.	L.S. \$ 20,000
655.1002	Drilling Holes and Installing Dowel Reinforcing Bars for Retaining Walls (Pineapple Road Bridge)	L.S.	L.S.	L.S. \$ <u>8,000</u>
681.1000	Pre-Production Performance Tieback Anchor Testing (Pineapple Road Bridge)	L.S.	L.S.	L.S. \$ 24,300-
681.1001	Furnishing Specialty Equipment (Pineapple Road Bridge)	L.S.	L.S.	L.S. \$ <u>53,000</u> -
681.1002	Tieback Anchors for Retaining Walls (Pineapple Road Bridge)	1080	L.F.	\$ 162-\$ 174,960-
681.1003	Reinstallation of Tieback Anchors due to Grout Loss and Additional Performance Tests (Pineapple Road Bridge)	F.A.	F. <b>A</b> .	F.A. \$60,000.00

<u>ITEM NO</u>	<u>).</u>	ITEM	QUANTITY	UNIT	UNIT PRICE	AMOUNT
699.100		bilization (Not to exceed 10% of the sum of all items excluding bid price of this item and Force Account items.)	L.S.	L.S.	L.S. \$	120,000-
	́а.	SUM OF ALL ITEMS			\$	1,744,460-
	b.	Either Furnish Foreign steel not to Exceed Minimal Amount (Fil Furnish Foreign Steel in Excess of Minimal Amount (Fill in 25%	,		*\$	Ð
	C.	c. AMOUNT FOR COMPARISON OF BIDS (a + b)			*\$	( <u>,744,46</u> 0-
	4 *	Il bidders must fill in b and complete c.				
	NO	TE:				

1. Bidders must complete all unit prices and amounts. Failure to do so may be grounds for rejection of bids.

The bidder is directed to Subsection 108.01 - Subletting of Contract.

The bidder's attention is directed to Section 699 - Mobilization for the limitation of the amount bidders are allowed to bid.

If the bid price for any proposal item having a maximum allowable bid indicated therefore in any of the contract documents is in excess of such a maximum amount, the bid price for such proposal item shall be adjusted to reflect the limitation thereon. The comparison of bids to determine the successful bidder and the amount of contract to be awarded shall be determined after such adjustments are made, and such adjustments shall be binding upon the bidder.

The bidder is directed to Subsections 106.12 - Recycling of Waste Glass and 106.13 - Ordering of Certain Material.

# INSTRUCTIONS TO COMPUTE THE AMOUNT FOR COMPARISON OF BIDS FOR FOREIGN STEEL

Each bidder shall indicate its intention to furnish foreign steel on this project by initialing after the AMOUNT for each of the items the bidder intends to use such foreign steel including lump sum items. A bidder not indicating such usage certifies that the bidder will furnish and use only domestic steel on this project. Also, the bidder shall add an additional 25% to the SUM OF ALL ITEMS if the bid submitted is based on furnishing foreign steel in excess of the minimal use specified in Subsection 106.11 - Domestic Materials.